1)

1-RIJENSYSTEEM : 1700 bomen [ ha 1-RIJENSYSTEEM  : 2200 bomen [ ha

1-RANGEES : 1700 arbres | ha 1-RANGEES : 2200 arbres [ ha
1-REIHENSYSTEM : 1700 Baume | ha 1-REIHENSYSTEM : 2200 Baume | ha
1-ROW SYSTEM  : 1700 trees | ha or 680 trees pro acre 1-ROW SYSTEM  : 2200 trees | ha or 880 trees pro acre
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2) 2-RIJENSYSTEEM : 2200 bomen [ ha 2-RIJENSYSTEEM : 2400 bomen [ ha
2-RANGEES : 2200 arbres | ha 2-RANGEES : 2400 arbres | ha
2-REIHENSYSTEM : 2200 B&ume | ha 2-REIHENSYSTEM : 2400 Baume | ha
2-ROW SYSTEM  : 2200 trees | ha or 880 trees pro acre 2-ROW SYSTEM  : 2400 trees [ ha or 960 trees pro acre
3,30 m 1m 3,25 m
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3) 3-RIJENSYSTEEM :2700 bomen [ ha

3-RANGEES : 2700 arbres | ha

3-REIHENSYSTEM : 2700 Baume | ha

3-ROW SYSTEM  : 2700 trees | ha or 1080 trees pro acre

3m 1,25 m
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4) B6-RIJENSYSTEEM - kolombomen -9000 bomen | ha

6-RANGEES - arbres colonnes -9000 arbres | ha

6-REIHENSYSTEM - kolonnebaiime -9000 Béaume | ha

6-ROWS SYSTEM - column trees -9000 trees [ ha or 3600 pro acre

2,50 m 0,5m
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